(2) FR28FEMARBISHAMETESR

(B FH)
THIEZE (B)DEHEAER
= i 4 BMEPEERE FE HEEIHL|ZT O M- B S itE E % fi& =
A B N5 R A C(A+B)
14 & 1= 2| 68,928,100 68,928,100
B 8 E W B fit -
2 3,906,990 3,906,990
B B E MR R
PFIARICKYEREE
SEEREALNDEE X 118,100 118,100| B X% EMRT 5= DE
EAEITA 36(EM
48 B H® F % 496,000 496,000
HRE-AMEEREES
5 95,040 95,040
g 1t =S *
A ML ITERE A
6 1,870,760 1,870,760
BE X RREF 2
BFRFERBUHES
7 451,340 451,340
g 1t =S *
S LEEEFEERESE 294,220 294,220
INARBRTEEEREES
9 1,513,170 1,513,170
g 1t =S *
VHEXEESENEE 162,090 162,090
MHE & T K& F £ 6,655,060 106,000 53,000 53,000 6,761,060 5"?%:F*EEEQ$¥®1§
IZEESHHIE
=) B 84,490,870 106,000 53,000 53,000 84,596,870




